IMSA 20-1 3C #14
CABLE(S) ~ CONTINUE
TO THE NEXT

SIGN LUMINAIRE,
WHERE APPLICABLE

6" (IN) DIAM. HAND HOLE WITH
GASKET AND REINFORCEMENT
RING (TYP.) ~ INSTALL ON TOP OF
MAST ARM AT EACH SIGN LIGHT
LOCATION (SEE NOTE 8 AND 9)

DRILL AND TAP
MONOTUBE FOR 3/4" (IN)
LB CONDUIT BODY

3/4" (IN) LIQUIDTIGHT o
FLEXIBLE METALLIC
CONDUIT ~ 24" (IN) LONG, MAX.

DETAIL @

PULLING GRIP OR TWO SCREW
CONNECTOR ~ SIZE TO SECURE
POLE AND BRACKET CABLE

6" (IN) DIAM. HAND HOLE WITH
GASKET AND REINFORCEMENT RING
CENTERED OVER NEMA TERMINAL
CABINET, IF NO OTHER HAND HOLE IS
WITHIN 1' - 6" OF CABINET |

(SEE NOTE 8 AND 9)

MONOTUBE \ /

J-HOOK

ISOLATION SWITCH ENCLOSURE ~ MOUNT

EQUIPMENT GROUNDING
CONDUCTOR

POLE AND BRACKET

CABLE (|

Vi

DRAWN BY: FERN LIDDELL

N

IMSA 20-1 3C #14 CABLES (SEE NOTE 2)
SECTION

% 3/16" (IN) DIAM. x 1 1/2" (IN) BOLT WITH WASHER AND NUT
FOR GROUNDING ~ TAP 3/16" (IN) DIAM. HOLE

ATTACHMENT BRACKET AND CLAMP
QUICK-DISCONNECT FUSES (SEE NOTE 5)
GROUNDING END BUSHING ~ GALVANIZED RIGID STEEL

(SEE NOTE 7)

WIRE TIE AT OUTSIDE END OF 3" (IN) MIN. LAP ~
1" (IN) EDGE DISTANCE AND 1" (IN) MAX. SPACING (TYP.)

% DRILL AND TAP 1/4" (IN) DIAM. x 1" (IN) CAP SCREW WITH
WASHER ~ SPACE APPROX. 9" (IN) O.C. ~ LIBERALLY COAT

e

STRIP OUTER SHEATH OFF POLE AND

THE THREADS WITH ANTI-SEIZE COMPOUND (TYP.)

‘\| BRACKET CABLE (TYP.)
( s +

TOP OF BASE PLATE

1.0

TOP OF SCREEN

A

% BOLTS, NUTS, AND WASHERS ~

[

ASTM F593 OR A193

TYPE 304 OR TYPE 316

f
TOP OF FOUNDATION \ «T

STAINLESS STEEL (S.S.)

WELDED GALV. CLOTH SCREEN, 1/16" (IN) x 7/16" (IN)
SQUARE ~ WRAP AROUND BASE PLATE
WITH 3" (IN) MIN. OVERLAP

EQUIPMENT BONDING JUMPER SHALL BE NON-INSULATED
#4 AWG COPPER WITH 3' (FT) MINIMUM SLACK ~ CLAMP TO
VERTICAL STEEL REINFORCING WITH A LISTED CONNECTOR
SUITABLE FOR USE EMBEDDED IN CONCRETE

- ---44

TO TOP OF
BUSHING

DETAIL @

PR

-

1/4"
(+1- 1/8"

N

BOTTOM OF SCREEN TO BE IN FULL CONTACT WITH
TOP OF FOUNDATION ~ MAY OVERSIZE HEIGHT, AND
TRIM BOTTOM OF SCREEN TO FIT TOP OF FOUNDATION,
AS NEEDED, TO BE IN FULL CONTACT

ANCHOR BOLT (TYP.)

SCREEN GUARD \\mg i
Lid

NOTES

(el

SEE CONTRACT FOR NUMBER
OF CONDUITS AND CONDUIT
SIZE (OR 2"(IN) DIAM. MIN.)

MONOTUBE SIGN STRUCTURE
(SEE CONTRACT FOR ORIENTATION OF SIGN STRUCTURE)

BACK OF SIGN %BNO}/EECFEFT(;E? SO|EER %’EDT",L”EYS%SS#BEE 1. Typical view shown. Verify power source location, quantities, location of signs,
e and sign structure fixtures in Contract Plans.
\ 2. Route IMSA 20-1 3C #14 cable(s) from isolation switch along inside bottom of
NOT LESS the Monotube Mast Arm to the liquidtight conduit connector(s) at hand hole(s).
THAN 3' - 0" ) , i
oo 3. Route separate IMSA 20-1 3C #14 cable from load side of terminal strip to each
1-0 additional light fixture (where applicable) and provide sufficient slack wire per
CABLE 'gféé%kg%gg‘; Standard Specification 8-20.3(8).
i T i L] i} | 4. Label all conductors with sign light and circuit number at isolation switch, hand
I I I B [ \\ ,,,,,,, I N I SO _ hole(s), and ballast enclosure(s). Labels shall be a PVC or Polyolefin wire mark-
Il By ooy | Ujf“‘[i\-_.&: ________________________ “17 /ﬂ ing sleeve per Standard Specification 9-29.
ey (G2 (£33 (5 T e =pg====sccc==m-ooooocooos '
\ TERMINATE EQUIPMENT | 5. Install quick-disconnect fuse kits between the power supply wires and the pole
| | GRO%’;'\ID%%\ACI%’;‘\E%&T@E and bracket cable per Standard Specification 9-29.7. Pull down tight to conduit.
/T L " (Disconnects left up for clarity). Fuse size shall be 200% larger than load size.
3/4" (IN) S.S. STRAP '. , .
(TYP.) 6. The conductors in the IMSA 20-1 3C #14 cable shall be black, red, and white.
”\S"Eé ﬁ%}ég #14 CABLE The white conductor shall be permanently identified as an equipment grounding
L ( ) i conductor per the NEC.
PROVIDE 6" (IN) DIAM. HAND HOLE 7. AIRMC conduits embedded in foundation shall be terminated with Grounding
SIGN-LIGHTING LUMINAIRE /E = W'LERIA,\ISgEGTng“%SS'TFH%%%'\I"NES"%;'TNH% End Bushing and bonded to the Foundation Grounding Bus. All PVC conduits
AND CONDUIT (TYP) STRUCTURE AT BEAM LEVEL i embedded in foundations shall be terminated with End Bell Bushing.
;gﬁ?fh’;‘%ﬁAC@BihﬁELz'\f’%H;\ggﬁ:MTH WASHER % (SEE NOTES 8 AND 9) 8. Hand holes shall be installed at the time of fabrication. Only additional conduits
" " ! for lighting accommodations to previously non-illuminated structures may be
1/4" (IN) GAP WITH 1/4" (IN) THICK NYLON o X 2 < ;
BUS|(.||,\)1G WASHER FOR( S%ACER ~ W4 x 13 BEAM (TYP.) installed in field as long as the proper repairs are made to the structure. For
FOUR LOCATIONS " hand hole details, see Standard Plan J-75.41.
POLE AND BRACKET CABLE ~ INSTALL N
FROM THE QUICK-DISCONNECT FUSE " i .
NEMA 3R S.S. TERMINAL CABINET "a" ~ KITS TO THE ISOLATION SWITCH \ 9. For details not shown, see Standard Plan G-90.40.
FOR ISOLATION SWITCH ENCLOSURE, SEE ~ i
| / STANDARD SPECIFICATION 5-29 25 10. All holes shall be drilled and tapped.
‘ L 11. Use the Retrofit Details only when the following conditions apply:
= RO 6 CONDUCTO A. Existing W4 x 13 Luminaire Brackets are to be reused for a new
3 EQUIPMENT GROUNDIN NDUCTOR ~ n ian-Liahti inai
m\ \ 1 1/2" (IN) DIAM. TAPPED HOLE SIZE PER NEC ~ MINIMUM SIZE #8 AWG | 1 Sign-Lighting Luminaire. - o _ _
WITH ‘(I'H)READED CONDUIT N B. The span between the existing Luminaire Brackets is too wide to
¢ AND LOCK NUT (TYP) n attach a new Sign-Lighting Luminaire and Luminaire Mounting Plate.
12. If the sign structure includes a maintenance walkway, the Luminaire Mounting
8" POLE AND BRACKET CABLE ~ PHENOLIC TAG ~ INSTALL 6" (IN) ABOVE HAND ;. . :
INSTALL FROM QUICK-DISCONNECT HOLE ~ TAG SHALL BE STAMPED WITH ' Plate shall be bolted to the walkway grating.
FUSE KITS TO ISOLATION SWITCH POWER SUPPLY VOLTAGE AND SERVICE ¥
SOURCE NUMBERS AND LETTERS ¥
AN 6" (IN) DIAM. HAND HOLE WITH GASKET ;:
/ AND REINFORCEMENT RING o
~ (SEE NOTES 8 AND 9) ¥
h LEAVE 2" OF OUTER JACKET OF POLE . ¥
o AND BRACKET CABLE AT BOTTOM OF 6" (IN) DIAM. HAND HOLE WITH ! 5 - 0" MIN
o / CLAMP (TYP.) GASKET AND REINFORCEMENT e :
o RING (SEE NOTES 8 AND 9) \ (l:SEFoﬁRMFj&D)

FINISHED Bailey, Ted
/ GRADE %7” 5«? May 24 2016 4:01 PM -
e OVERHEAD SIGN
e ELECTRICAL DETAILS
(MONOTUBE STRUCTURE)
STANDARD PLAN J-75.40-02
T%EEWEI?E SHEET 1 OF 2 SHEETS

APPROVED FOR PUBLICATION
Carpenter, Jeff
Jun 12016 4:13 PM

Carprenter. Jeff

STATE DESIGN ENGINEER

cosign

Washi S D f T i
ashington State Department of Transportation
L/




3/4" (IN) CHASE NIPPLE
WITH LOCKNUT WASHER

SIGN-LIGHTING LUMINAIRE

MOUNTING CHANNEL

3/4" (IN) LB CONDUIT BODY
15/8" (IN) x 1 5/8" (IN) S.S. @

DRAWN BY: FERN LIDDELL

% 3/8" (IN) DIAM.
x 1 1/2" (IN) BOLT

LUMINAIRE

VARIES

SECTION @

NOT TO EXCEED 4' - 0"

LUMINAIRE BRACKET
(TYP.) ~W4 x 13 STEEL

SIGN-LIGHTING FIXTURE WITH RETROFIT

3/8" (IN) DIAM. WASHER AND

3/8" (IN) DIAM. LOCK WASHER %

CHANNEL NUT % ~
GROOVED AND SERRATED ~
FOUR PER FIXTURE

MOUNTING
PLATE \

15/8" (IN) x 1 5/8" (IN) S.S.
MOUNTING CHANNEL ~

e

S.S. TYPE 304 OR

‘ TWO PER FIXTURE
TYPE 316 RETAINING j \ LUMINAIRE BRACKET ~

SPRING ~ FOUR PER
FIXTURE

DETAIL

W4 x 13 STEEL

SIGN-LIGHTING
LUMINAIRE

3/4" (IN) CHASE NIPPLE
WITH LOCKNUT WASHER

3/4" (IN) LB CONDUIT BODY

LUMINAIRE BRACKET
(TYP.) ~W4 x 13 STEEL

LUMINAIRE MOUNTING

1-81/2"

10 3/4"

SIGN-LIGHTING
LUMINAIRE

1 5/8" (IN) x 1 5/8" (IN)
MOUNTING CHANNEL

LUMINAIRE BRACKET ~

W4 x 13 STEEL \
\

3/8" (IN) DIAM. x 1 1/2" (IN) BOLT,
3/8" (IN) DIAM. WASHER %

o

% BOLTS, NUTS, AND WASHERS ~
ASTM F593 OR A193
TYPE 304 OR TYPE 316
STAINLESS STEEL (S.S.)

| N
/ Vv VERTICAL BRACE ~
3/8" (IN) DIAM. LOCKNUT AND LOCK WASHER % / W4 x 13 STEEL
SECTION @

6" (IN) DIAM.

SIGN FACE o > AND FOLE

q)_ a ]

USE DETAILS ABOVE THE MATCHLINE s N\
ON SIGN LIGHT MOUNTING DETAIL
MATCHLINE
MONOTUBE

GALVANIZED STEEL CONDUIT ~

3/4" (IN) DIAM. RIGID }
MOUNTED TO INSIDE OF }

VERTICAL BRACE ~

SIGN FACE b, W4 x 13 STEEL

BEAM \

S

STEEL CHANNEL ~
C5x 9 (TYP.)

VERTICAL BRACE el 3/4" (IN) 45° e [ S ——————
ELECTRICAL CONDUIT ~ | LIQUIDTIGHT EQ t“* LL“’E?’*”\ ‘
FOR DETAILS NOT SHOWN, | CONDUIT ™ i
SEE SIGN LIGHT MOUNTING DETAIL | Sl se CONNECTOR s DRILL AND TAP MONOTUBE
Iy D% & FOR 3/4" (IN) LB CONDUIT BODY
| [ S == #
= ] | T €
[ R 1 | — -l RIGID GALVANIZED | D ol .
— I -_— STEEL COUPLING o . é 3/4" (IN) LIQUIDTIGHT FLEXIBLE
/ | / o == METALLIC CONDUIT ~ 24" (IN) LONG, MAX.
LUMINAIRE BRACKET ~ I o
\ " \
W4 x 13 STEEL 20" ‘ 3/4" (IN) S.S. STRAP (TYP.) i "o *'*':*: oy
MAX. ! ? MAX. ¥
RETROFIT MOUNTING DETAIL USE DETAILS BELOW THE MATCHLINE -
ON RETROFIT MOUNTING DETAIL o
o MATCHLINE
3/8" (IN) DIAM. x 1 1/2" (IN) BOLT % R
3/8" (IN) * L < g
WASHER v _
LUMINAIRE FIXTURE 1'- 10 3/4" 3/4" (IN) LB CONDUIT BODY b | ©
HOUSING % \ \ T
3/4" (IN) STRAIGHT .
" LUMINAIRE CONNECTOR GALVANIZED STEEL — ] ||
% 3/8" (IN) DIAM. CONDUIT o Bailey, Ted
LOCKNUT 3/4" (IN) LIQUIDTIGHT FLEXIBLE L W,M &? May 24 2016 4:02 PM _
LUMINAIRE MOUNTING METALLIC CONDUIT ~ 24" (IN) LONG, MAX. =T - OVERHEAD SIGN cosign
PLATE " o o
3/4" (IN) 45° LIQUIDTIGHT CONDUIT i
- AL TOR SINTA Wi o 1 - ELECTRICAL DETAILS
OF LIGHT FIXTURE | i (MONOTUBE STRUCTURE)
7 i i =/ STANDARD PLAN J-75.40-02
W T T oo\ [oooooooooooooIooooooIIIiIIiEIiizZIioT N SHEET 2 OF 2 SHEETS

PLATE

SECTION @

LUMINAIRE BRACKET ~ /
W4 x 13 STEEL

3/4" (IN) S.S. STRAP
Tp) | glp

SIGN LIGHT MOUNTING DETAIL

Carnpenter. Jeff

APPROVED FOR PUBLICATION
Carpenter, Jeff
Jun 12016 4:14 PM

cosign

STATE DESIGN ENGINEER

Washi S D f T i
ashington State Department of Transportation
L/




		2016-05-24T16:01:55-0700
	Bailey, Ted


		2016-06-01T16:13:57-0700
	Carpenter, Jeff


		2016-05-24T16:02:09-0700
	Bailey, Ted


		2016-06-01T16:14:10-0700
	Carpenter, Jeff




